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PROFIT & LOSS TEST 

 
1. A shop keeper bought 10 bananas for ì 100. 2 bananas were rotten. He sold 

the remaining bananas at the rate of ì 11 per banana. Find his gain or loss%.  
a. 20% loss  b. 12% loss  c. 12% profit  d. No loss No Gain  
xU filf;fhuh; 10 thiog;goq;fis 100f;F thq;Ffpwhh;. 2 thiog;goq;fs; 
mOfp tpl;ld. kPjKs;s goq;fis> xU gok; 11 vd;w tpiyf;F tpw;fpwhh;. 
mtUf;F fpilj;j ,yhg (m) el;l rjtPjj;ijf; fhz;f.  
a. 20% el;lk;    b. 12% el;lk;  
c. 12% yhgk;     d. yhgKk; ,y;iy el;lKk; ,y;iy  

 
2. A table is bought for Rs.4500 and sold for Rs.4800. Find the profit or loss. 

a. Rs.3000  b. Rs.300  c. Rs.500  d. Rs.800  
xU NkirahdJ & 4500 f;F thq;fg;gl;L & 4800 f;F tpw;fg;gLfpwJ vdpy; 
,yhgk; my;yJ el;lk; fhz;f.  
a. Rs.3000  b. Rs.300  c. Rs.500  d. Rs.800  
 

3. Rani bought a set of bangles for Rs.310. Her neighbour liked it most. So, Rani 
sold it to her for Rs.325. Find the profit or loss to Rani? 
a. Rs 15  b. Rs. 25  c. Rs. 35  d. Rs. 5 
,uhzp xU Nrhb tisay;fis & 310 f;F thq;fpdhh;. mtSila Njhop 
mij kpfTk; tpUk;gpajhy;> ,uhzp mt;tisaiy & 325 f;F tpw;fpwhh;. 
vdpy; tUfpd;w yhgk; my;yJ el;lk; fhz;f.  
a. Rs 15  b. Rs. 25  c. Rs. 35  d. Rs. 5 
 

4. Pari bought a motor cycle for Rs.55,000 and he gained Rs.5500 on selling the 
same. What is the selling price of the moter cycle? 
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a. Rs. 60000  b. Rs. 60,500  c. Rs. 61,500   d. Rs. 49,500  
ghhp Xh; ce;J tz;bia & 55> 000 f;F thq;fp & 5500 ,yhgj;jpw;F 
tpw;gid nra;jhh; vdpy; ce;J tz;bapd; tpw;gid tpiy vd;d?  
a. Rs. 60000  b. Rs. 60,500  c. Rs. 61,500   d. Rs. 49,500  
 

5. Muthu has car worth Rs.8,50,000 and he worth to sell it at a profit of Rs.25000. 
What should be the selling price of the car? 
a. Rs.8,25,000 b. Rs.49,00,000  c. Rs.7,75,000 d. Rs.8,75,000 

Kj;J xU kfpOe;J tz;bia & 8,50,000 f;F thq;fpdhh;. mij & 25000 
,yhgj;jpw;F tpw;gid nra;a tpUk;gpdhh; vdpy; kfpOe;jpd; tpw;gid tpiy 
vd;dthf ,Uf;Fk;?  
a. Rs.8,25,000 b. Rs.49,00,000  c. Rs.7,75,000 d. Rs.8,75,000 
 

6. Valarmathi sold her pearl set for Rs.30,000 at profit of Rs.5000. Find the cost 
price of the pearl set? 
a. 25,000  b. 35,000  c. 38,000  d. 40,000 
tsh;kjp jd;Dila Kj;J khiyia & 30,000 f;F tpw;gid nra;J> 
mjdhy; ,yhgk; & 5000 ngWfpwhh; vdpy; Kj;J khiyapd; mlf;f 
tpiyiaf; fhz;f.  
a. 25,000  b. 35,000  c. 38,000  d. 40,000 
 

7. A shopkeeper buys three articles for Rs.325, Rs.450, Rs.510. He is able to sell 
them for Rs.350, Rs.425 and Rs.525 respectively. Find the gain or loss to the 
shopkeeper on the whole? 
a. Rs.10  b. Rs.5  c. Rs.15  d. Rs.20 
xU tpw;gidahsh; %d;W nghUl;fis & 325, & 450 kw;Wk; & 510 vd 
thq;Ffpwhh;. mtw;iw KiwNa & 350, & 425 kw;Wk; & 525 vd tpw;gid 
nra;fpwhh;. mtUila nkhj;j ,yhgk; my;yJ el;lk; fhz;f.  
a. Rs. 10  b. Rs. 5  c. Rs. 15  d. Rs. 20 
 

8. If Guna marks his product to be sold for Rs.325 and gives a discount of Rs.30 
then find the S.P? 
a. Rs. 295  b. Rs. 285  c. Rs. 275  d. Rs. 305 
Fzh jdJ nghUis & 325 mij vd Fwpj;J & 30 js;Sgbapy; 
tpw;gid nra;fpd;whh; vdpy;> tpw;gid tpiyiaf; fhz;f.  
a. Rs. 295  b. Rs. 285  c. Rs. 275  d. Rs. 305 
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9. A man buys a chair for Rs.1500. He wants to sell it at a profit of Rs.250 after 
making a discount of Rs.100. What is the M.P of the chair? 
a. Rs.1950  b. Rs.2050  c. Rs. 1850  d. Rs. 1750 
xUth; xU ehw;fhypia & 1500 f;F thq;fpdhh;. js;Sgb & 100 mspj;j gpd; 
& 250 ,yhgk; ngWkhW tpw;gid nra;a tpUk;gpdhh; vdpy; ehw;fhypapd; 
Fwpj;j tpiy vt;tsT?  
a. Rs. 1950  b. Rs. 2050  c. Rs. 1850  d. Rs. 1750 
 

10. Raghu buys a chair for Rs.3000. He wants to sell it at a profit of Rs.500 after 
making a discount of Rs.300. what is the M.P of the chair? 
a. Rs.3500  b. Rs.4500  c. Rs.4000   d. Rs.3800  
,uF xU ew;fhypia & 3000 f;F thq;Ffpwhh;. me;ehw;fhypapd; tpiyapy; & 
300 js;Sgb nra;j gpd; & 500 ,yhgk; ngWfpwhh; vdpy; me;ehw;fhypapd; 
Fwpj;j tpiy vd;d?  
a. Rs. 3500  b. Rs. 4500  c. Rs. 4000   d. Rs. 3800  
 

11. A man bought 75 mangoes for Rs.300 and sold 50 mangoes for Rs.300. If he 
sold all the mangoes at the same price, find his profit or loss? 
a. Rs.150  b. Rs.50  c. Rs.25  d. Rs.100 
xUth; & 300 f;F 75 khk;goq;fis thq;fp mtw;wpy; 50 khk;goq;fis & 300 
f;F tpw;gid nra;jhh;. midj;J khk;goq;fisAk; mNj tpiyapy; tpw;why; 
tUfpd;w ,yhgk; my;yJ el;lk; fhz;f.  
a. Rs. 150  b. Rs. 50  c. Rs. 25  d. Rs. 100 
 

12. Mangai bought a cell phone for Rs.12585. It fell down. she spend Rs.500 on its 
repair. she sold it for Rs.7500. Find her profit or loss? 
a. Rs. 6500 loss    b. Rs. 6565 loss 
c. Rs. 6585 profit    d. Rs. 6585 loss 
kq;if xU miyNgrpia & 12585 f;F thq;fpdhh; mJ fPNo tpOe;J gOjhfp 
tpl;lJ. mijr; rhp nra;a & 500 nryT nra;J mij mth; & 7500 f;F 
tpw;gid nra;jhh;. mtUila ,yhgk; my;yJ el;lk; fhz;f.  
a. & 6500 el;lk;    b. & 6565 el;lk;  
c. & 6585 yhgk;    d. & 6585 el;lk;  
 

13. An electrician buys a used T.V for Rs.12,000 and a used fridge for Rs.11,000. 
After spending Rs.1000. On repairing the T.V and Rs.1500 on painting the 
fridge, he fixes up the M.P of TV as Rs.15,000 and that of fridge as Rs.15,500. 
If he gives Rs.1000 discount on each find his profit or loss/ 
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a. Rs.2000 loss    b. Rs.2000 profit 

c. Rs.2500 loss    d. Rs.2500 profit 
xU vyf;l;hPrpad; gad;gLj;jg;gl;l njhiyf;fhl;bg; ngl;b xd;iwAk;> 
Fsph;rhjdg; ngl;b xd;iwAk; KiwNa & 12000-f;Fk;> & 11>000 f;Fk; 
thq;fpdhh;. njhiyf;fhl;rpg; ngl;biar; rhp nra;a & 1000 ck;> Fsph;rhjdg; 
ngl;bf;F tz;zk; nra;a & 1500 ck; nryT nra;j gpd; njhiyf;fhl;rp 
ngl;bf;F & 15000 kw;Wk; Fsph; rhjdg; ngl;bf;F & 15>500 vd tpiy 
eph;zak; nra;jhh;. ,it xt;nthd;Wf;Fk; & 1000 js;Sgb nra;jhh; vdpy; 
mtUila ,yhgk; my;yJ el;lk; fhz;f.  
a. & 2000 el;lk;    b. & 2000 yhgk;  
c. & 2500 el;lk;    d. & 2500 yhgk;  
 

14. Sanjay bought a bicycle for Rs.5000. He sold it for Rs.600 loss after two years. 
Find the and the loss percent? 
a. 10% b. 8%  c. 18% d. 12% 
rQ;[a; kpjptz;bia & 5000 f;F thq;fpdhh;. ,uz;L tUlq;fSf;F gpwF> & 
600 Fiwj;J tpw;whh;. kpjptz;bapd; el;l rjtPjj;ijf; fhz;f.  
a. 10% b. 8%  c. 18% d. 12% 

 
15. A shopkeeper bought 10 bananas for Rs.100. 2 bananas were notten. He sold 

the remaining bananas at the rate of Rs.11 per banana. Find his gain or loss%? 
a. 12% profit b. 22% loss  c. 12% loss  d. 10% loss 
xU filf;fhuh; 10 thiog;goq;fis & 100f;F thq;Ffpwhh;. 2 thiog;goq;fs; 
mOfp tpl;ld. kPjKs;s goq;fis> xU gok; & 11 vd;w tpiyf;F tpw;fpwhh;. 
mtUf;F fpilj;j ,yhg (m) el;l rjtPjj;ijf; fhz;f.  
a. 12% yhgk;  b. 22% el;lk; c. 12% el;lk; d. 10% el;lk;  
 

16. An item was bought at Rs.200 and sold it at a loss of 4%. what is the selling 
price? 
a. Rs.190  b. Rs.180  c. Rs.170  d. Rs.192   
xU nghUs; & 200 ,f;F thq;fp 4% el;lj;jpw;F tpw;fg;gLfpwJ vdpy;> 
mg;nghUspd; tpw;gid tpiy vd;d?  
a. Rs. 190  b. Rs. 180  c. Rs. 170  d. Rs. 192   
 

17. Hameed buys a colour T.V. set for Rs. 15,200 and sells it at a loss of 20% what 
is the selling price of the TV set?  
a. Rs. 12, 360  b. Rs. 12,260 c. Rs. 12,160 d. Rs. 12,460  
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`kPJ xU tz;zj; njhiyf;fhl;rpg; ngl;bia & 15>200 f;F thq;Ffpd;whh;. 
,jid 20% el;lj;jpw;F tpw;whh; vdpy;> mj;njhiyf;fhl;rpg; ngl;bapd; 
tpw;gid tpiy vd;d?  
a. Rs. 12, 360  b. Rs. 12,260 c. Rs. 12,160 d. Rs. 12,460  
 

18. A scooty is sold for Rs. 13,600 and fetcher a loss of 15%. Find the cost price of 
the scooty.  
a. Rs. 15000  b. Rs 16000  c. Rs. 18000  d. Rs. 12000  
xU ];$l;bia & 13,600 f;F tpw;gid nra;Ak;nghOJ 15% el;lk; MfpwJ 
vdpy;> mjd; cz;ik tpiy vd;d?  
a. & 15000  b. & 16,000 c. & 18000  d. & 12000 
 

19. The cost price of 16 note books is equal to the selling price of 12 books. find 
the gain percent. 

a. 33 
1

3
% profit   b. 20% profit  c. 25% profit   d. 30% profit  

16 Nehl;Lg; Gj;jfq;fspd; mlf;f tpiy 12 Nehl;L Gj;jfq;fspd; tpw;gid 
tpiyf;Fr; rkk;. ,jd; ,yhg rjtPjj;ijf; fhzTk;.  

a. 33 
1

3
% yhgk;  b. 20% yhgk;  c. 25% yhgk; d. 30% yhgk;  

 
20. Anbarasan purchared a house for Rs. 17,75,000 and spent Rs. 1,25,000 on its 

interior decoration. He sold the house to make a profit of 20%. Find the S.P. 
of the hours.  
md;gurd; xU tPl;il & 17>75>000 f;F thq;fpdhh;. gpd;G cl;Gwq;fis & 
1>25>000f;F moFgLj;jp mij 20% ,yhgj;jpw;F tpw;whh; vdpy; tpw;gid 
tpiyiaf; fhz;f.  
 

21. A bicycle marked at Rs. 1500 sold for Rs. 1350. what is the percentage of 
discount?  
a. 10%  b. 20%  c. 5%  d. 25%  
xU kpjptz;bapd; tpiy & 1500 vd;W Fwpf;fg;gl;Ls;sJ. ,jid & 1350f;F 
tpw;why; js;Sgb rjtPjk; vd;d?  
a. 10%  b. 20%  c. 5%  d. 25%  
 

22. The list price of a frock is Rs. 220. A discount of 20% on sales is announced. 
What is the amount of discount on it and its selling price? 
a. Rs. 44, Rs. 176    b. Rs. 54, Rs. 166 
c. Rs. 74, Rs. 156    d. Rs. 44, Rs. 186  
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Xh; cilapd; gl;bay; tpiy & 220. mjd; tpw;gidapy; 20% js;Sgb vd;W 
mwptpf;fg;gl;Ls;sJ cilapd; Nky; js;Sgb vt;tsT? mjd; tpw;gid 
tpiy vd;d?  
a. Rs. 44, Rs. 176    b. Rs. 54, Rs. 166 
c. Rs. 74, Rs. 156    d. Rs. 44, Rs. 186  
 

23. Priya bought a Suitcase for Rs. 2730. The VAT for this item is 5%. What was 
the price of the Suitcase before VAT was added?  
a. Rs. 2500  b. Rs. 2600  c. Rs. 2700  d. Rs. 2800  
gphpah & 2730 f;F xU #l;Nf]; thq;fpdhh;. ,jd; kPJ kjpg;G $l;L thp 5% 
MFk;. kjpg;G $l;L thpiar; Nrh;f;Fk; Kd;dh; mg;ngl;bapd; tpiy vd;d?  
a. & 2500  b. & 2600  c. & 2700  d. & 2800 
 

24. A man sold two varieties of his dog for Rs. 3,605 each on one he mode a gain 
of 15% and on the other a loss of 9% Find his overall gain or loss. 
(Approximate). 
a. Rs. 7095   b. Rs. 7195  c. Rs. 6995  d. Rs. 7250  
xUth; jd;dplKs;s xU ehapid 15% ,yhgj;jpw;F & 3605 f;Fk; NtW xU 
ehapid 9% el;lj;jpw;F & 3605 f;Fk; tpw;whh; vdpy;> (Njhuhakhf) nkhj;j 
,yhgk; my;yJ nkhj;j el;lk; fhz;f.  
a. & 7095  b. & 7195  c. & 6995  d. & 7250  
 

25. A man sold two Articles at Rs. 375 each. On the first article, he gains 25% and 
on the other he losses 25%. Find the gain or loss percent in the whole 
transaction. 

a. 6 
1

4
% profit   b. 6 

1

4
% loss c. 8% profit   d. 6% loss  

xUth; ,U nghUl;fis xt;nthd;iwAk; & 375-f;F tpw;fpd;whh;. Kjy; 
nghUspy; 25% ,yhgKk; kw;nwhd;wpy; 25% el;lk; milfpwJ. vdpy; nkhj;j 
tpahghuj;jpy; Vw;gl;l ,yhg my;yJ el;l rjtPjj;ij fhzTk;.  

a. 6 
1

4
% ,yhgk;    b. 6 

1

4
% el;lk;   c. 8% el;lk;   d. 6% el;lk;    

 
26. The cost price of 20 articles is the same as the selling price of x articles. If the 

profit is 25%, then the value of x is.  
a. 15    b. 16   c. 18   d. 25  
20 nghUl;fspd; cz;ik tpiyahdJ 'x' nghUl;fspd; tpw;gid tpiyf;Fr; 
rkk;. ,jd; %yk; 25% yhgk; fpilf;fpwnjdpy;> 'x'-d; kjpg;G fhz;f.  
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a. 15    b. 16   c. 18   d. 25  
 

27. Some articles were bought at 6 for Rs. 5 and sold at 5 for Rs. 6. Gain percent 
is:  

a. 30%    b. 33 
1

3
%  c. 35%  d. 44%  

& 5-w;F 6 nghUl;fs; vd thq;fg;gl;L> & 6-w;F 5 nghUl;fs; vd 
tpw;fg;gLfpwJ. vdpy; yhg rjtPjk; vd;d?  

a. 30%    b. 33 
1

3
%  c. 35%  d. 44%  

28. An article was sold for Rs. 144. If the percentage of profit was numerically 
equal to the cost price, the cost of the article was:  
a. Rs. 72   b. Rs. 80  c. Rs. 90  d. Rs. 100 
xU nghUs; & 144 f;F tpw;fg;gLfpwJ. mg;nghUspd; cz;ik tpiyapd; 
vz;zpf;ifAk; yhg rjtPjKk; rkk;. vdpy; mg;nghUspd; cz;ik tpiy 
vd;d?  
a. Rs. 72   b. Rs. 80  c. Rs. 90  d. Rs. 100 
 

29. A man buys an article for 10% less than its value and sells it for 10% more 
than its value. His gain or loss percent is:  
a. no profit, no loss   b. 20%  
c. less then 20% profit   d. more than 20% profit  
'xUth; xU nghUspd; tpiyapypUe;J 10% Fiwj;J thq;fp mjd; 
tpiyapypUe;J 10% mjpfkhf tpw;fpwhh; vdpy; mtUila yhg my;yJ el;l 
rjtPjk;  
a. 20% yhgk;    b. yhgKkpy;iy> el;lKkpy;iy  
c. yhgk; 20% I tpl FiwT  d. yhgk; 20% I tpl mjpfk;  
 

30. A shopkeeper sells an article at a loss of . Had he sold it for Rs. 51.80 more, he 
would have earned a profit of 6%. The cost price of the article is:  
a. Rs. 280  b. Rs. 300  c. Rs. 380  d. Rs. 400  
xU filf;fhuh; xU nghUis 12.5% el;lj;jpy; tpw;fpwhh;. mth; tpw;w 
tpiyapypUe;J & 51.80 mjpfkhf tpw;wpUe;jhy; mtUf;F 6% yhgk; 
fpilj;jpUf;Fk;. vdpy; mg;nghUspd; cz;ik tpiy vd;d?  
a. Rs. 280  b. Rs. 300  c. Rs. 380  d. Rs. 400  
 


